Infinite
Mounting
Possibilities

POS Pole 300

C

COMPONENT CHECKLIST

Item Name QTY
A  Post 300mm x 45mm 1
B Post Cap 45mm 1
C Base Cover Plate 45mm 1
D Cable Clip 40mm 1
E M6 x 50mm Screws for Mounting Post 4
F M6 Washer for Mounting Post 4
G M6 Nut for Mounting Post 4
H Self-tapping Screws for Mounting Post 4
| 4mm Allen Key for M6 x 50mm Screws 1

Technical Summary
APA-P300-45

No portion of this document or any artwork contained herein should be reproduced in any way without the express written consent of Atdec Pty Ltd.

Due to continuing product development, the manufacturer reserves the right to alter specifications without notice. ©20171120A

atdec.com



